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Read the text carefully. What do you imagine this scene might look like?

It was quiet and still in the woods. No birds singing in the trees,
no sounds of footsteps through the dirt. They were there though,
hiding. Birds and animals of all shapes and sizes, peeking through
the branches to see the bright shining object that had just fallen
into the clearing.
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Exercise and Your Racing Heart!

Check out the My Racing Heart video on the Awesome Sauce channel.

Facts:

Regular exercise is very important for a healthy heart!

» Exercise keeps your heart beating at a calm pace so your heart doesn't have to
work too hard to supply your body with blood.

« Excercise reduces stress. {(Stress makes your heart work harder.)

- Exercise makes muscles, including your heart, stronger.

- Exercise helps you stay at a healthy weight. The more extra weight you have,
the harder your heart has to work to move blood around your body.

*Source: httpd/fwww hopkinsmedicine.org/fheart_vascular_institutesclinical_servicas/centers_excellencefwomens, cardicvascular_health_center/patient_information/heajth_toplesfoxercise_hearthtm)|

Check out how exercise affects your heart rate by doing the exercises in the chart.
1. Check your heartbeat before doing each exercise. To find your heartbeat,
put your hand over your heart, on the left side of your chest.
2. Do the exercise.
3. Fill in the chart about the speed of your heartbeat.
4, Rest for 1 minute after doing each exercise, and then start the next one.

Movement My Heartbeat Is

Slower than before
The same as before
Faster than before

Do 10 jumping jacks.

Slower than before
The same as before
Faster than before

Raise your arms slowly to reach
them above your head 10 times.

Slower than before
The same as before
Faster than before

Jog in place for 15 seconds.

Slower than before
The same as before
Faster than before

Take 10 slow deep breaths.

oo jodojocopjooo




Correct the Sentence Punctuation

Write the correct sentence underneath by adding in capital letters, full stops and
question marks, where they are needed.

1. my brother’s dog is called tess

2. on sunday she went to the park

3. australia day is on january 26th

4. toby and mark are going to perth in march

5. martha took her children to the zoo yesterday

6. when i go to the shop i get some chips

7. sameera and i are going to town on friday

8. did you sell lollies at the fair

9. my mum has a cat he is called tom

10. have you got a dress for the prom

Page 1 of & visit twinklL.com




Ha,ndwmh,ng Praciice Sheels

Notes to remember:
. /\/\y letters sit on the line.
° /\/‘9 lower case letters are the
- same heﬂght as each other.
) A @ ¢ /\/\y upper case letters touch the to/r) of the line.
o [ start the letter at the 'mg/mt pornt.

o [ use ﬁ’ngefr spaces between each
new letter or mew word.

Now . copy the letters and words imto your /m,ﬂd'w"riti’ng book.

@ . '1
Guskhy Barddardd
fopond ‘J
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Subiraction mental strategies — addition and subtraction

| Knowing one addition fact means you also know two related subtraction facts.
| Because7 + 3 = 10 you know that 10 = 7 = 3 and 10 - 3 = 7

Make a group of facts for each pair of numbers. The first one has been done for you.

A @ | o (®) (5) | ] (=) (@)

15 + 35 = 50
50 — 15 = 35
50 — 35 = 15

d [105? [ 15 } e [120} {10 E f [135] Elo E

Complete each number trail:

a | 150 + 10 —15 + 50 + 30 : O
b | 200 - 50 + 25 — 30 + 55
¢ | 99 +11 + 50 + 50 - 20
d | 76 + 24 + 35 + 15 —25 O




Telling time - five minute intervals past the hour

7~

It takes 5 minutes for the minute
hand to move from one number to
the next. The time shown on this
clock is 20 minutes past 6.

Remember — the minute hand is
the longer one.

Write the number of minutes it takes the minute hand to move from the following:

a 8to12 b 5to7 c 2to4d

d 11to3 e btol f 5t010

Connect each time to the matching clock face:

[ 25 minutes past 9 ] [ 10 minutes past 2 J

[ 20 minutes past 12 ) ( 5 minutes past 6 )

.......................................................................................................................... e 2e the e
. hand moves around the
Draw the hour and minute hands on each clock to show clock face, the hour hand

the correct time: gets closer to the next hout.

[5 minutes past 6 ] [20 minutes past 3 ] [ 10 minutes past 9J REMEMBER




Term 3 - Week 9 - 2021 - Stage 3
Drama

Name:

‘2 character story board.’
e Select 2 characters from the grid below.
e Create a story board, telling a story, in the squares below.
e Provide a detailed description of the story board, on the lines below.

DRAMA TRUNK Chargcter: Character. Character
CHARACTER HEALTH
CARDS MODEL CHEF INSPFPECTOR
OPMMROF:G{’E"S STON Character: Character: Character:
AL
SWIMMAER. MAYOR MUSICIAN FLORIST
Character: Character: Character: Cruara.cher:
LANDSCAPE | PIZZzA DELIVERY
GARDINER. DRIVER. ARTIST MONK.
Character: Chara.ctber: Character: Characber:
WRESTLER DANCER BOXER COMETDIAN
Oha.r‘gcte.r‘. Chuaracter: Cheara.cher: Chaera.chenr:
LASTIC DRAMA
. SURGEON TEACHER VET POCTOR
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Seasons in Australia
Most people in Australia use the four European seasons: summer, autumn,
winter and spring. Each season lasts for three months. However, the seasons
can be different depending on where you live in Australia because there are six
distinct climate zones. In the tropical areas, (those close to the equator) the year
is divided into two seasons: the wet and the dry season. Throughout Australia,
indigenous communities have their own seasons based on the weather and the
impact each season has on their animals, plants and land. Some communities
have five or six distinct seasons, which are more precise and detailed compared
to the four European seasons.

The Earth and the seasons

Seasonal changes are caused by the tilt of the Earth’s axis as it orbits the Sun.
When the Earth orbits around the giant star, each place on the Earth gets a
slightly different amount of sunlight. For six months of the year, Antarctica
is tilted towards the Sun. During this time spring and summer occur in the
southern hemisphere. During winter in Australia, Antarctica is tilted away from
the Sun’s ray. This means that, in the southern hemisphere, the temperatures
are cooler and this is when autumn and winter occur. This explains why there
are seasonal changes in Australia.

Page 6 of 10 vigit twink! com au
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Spring in Australia

The Weather in Spring
During spring, the amount of daylight increases. Although temperatures
increase, it can also be a wet season. The weather can be extremely changeable
as frost, wind, rain, sun and even snow in some places in Australia can occur
during this time of year.

Animals in Spring

In spring, many animals and birds reproduce. There is an abundance of food and
the days are longer; this allow parents more opportunities to find food. Animais
also experience a number of physical changes as they shed their winter coat in
preparation for the warmer weather. Once spring arrives, hibernating animals
will reawaken and become active. During hibernation, some animals survive
during the colder months by lowering their body temperature, not moving or
eating during the coldest season. Many native Australian animals hibernate,
such as some types of possums, bats and echidnas.

Plants in Spring

Plants need water and sunlight to grow. Spring provides the perfect environment
for new growth. The rain provides the water and the sun gives plants the required
nutrients to grow. Deciduous trees (trees that lose their leaves during autumn
and throughout winter) will grow their leaves back, however, almost all native
trees in Australia are evergreens. Flowers may also start to bloom with the
warmer weather. Fruits, such as apples, pears, avocados, lemons, mandarins
and strawberries, begin to grow during this season.

Spring around the World

Spring occurs in different months around the world. When the southern
hemisphere is tilted towards the Sun, the northern hemisphere is angled away
from the Sun. Consequently, the days will be shorter and the nights are longer
for six months of the year in the northern hemisphere. Therefore, when it is
spring in the southern hemisphere, it is autumn in the northern hemisphere.

Page 7 of 10 visit twinki coman -
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Spring in Australia

Questions

1. Fill in the missing information about the different ways of describing the seasons.

Indigenous
Seasons
Number of Seasons 2
Length of Season Varied

2. Thinking about where you live, which way of describing seasons suits your home best?

Why?

3. Draw a diagram of the position of the Earth and Sun during the Australian spring.

Remember to include the tilt of the Earth’s axis.

4. Why is spring an important season for animals?

5. Why does spring provide a perfect environment for new growth?

* * * Page 8 of 10 visit twinkl.com.au




% NE" WO HUIMAL JISIA

‘PoljiIuUSpI dARY NOA piom
yoea 10} uoniuljap ayj alIm ‘papiaoid saxoq paulj wﬁ.:_ ‘goMm pIom 8y} Jo 18Ae] 491N0 Y} UQ "papirod
saJeds aU) U] WY} 3}1IM puR PIOM 1001 UDAIB 3} 0] d)k|a1 Jey) SpIom Inoj Bunsi| Aq gam piom ayy ul fji4

‘abed sy} Jo anuad dY} Ul UMOYS ‘PIOM 1004 DY) LU0} WO Jey} SPIOM J0) AIRUONDIP BY) Yoieas

:goM piop ABojowAy1g siy] asn 01 MOH



NELLIOD U] YSIA

T

e




Speed loops 1o and from £

fis abif
different, because it has a
head AND a tail. You can join
from £ with a speed loop. You
can dso join to £ with a
speed loop.

When §is the
first letter of the word,
use a tail speed loop fo
Jjoin fo the next letter.
This { doesn't need a
crosshar.

When fis in the
middie of the word, it has a head speed
loop AND a fdil speed loop. This £ doesn't
have a crossbar either.

When fis the last letter in the
word, join to it with a head speed loop.
This f does have a crossbar.,

7
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Subtroction mental strategies — jump sirategy

f‘"
When we subtract, we can use the jump strategy to help us. Look at 99 — 42:
1 First we jump back by the tens.
2 Then we jump back by the units. Start
-2 -10 -10 - 10 - 10 1
“57 59 69 79 89 99
99 - 42 = 57
% A
Solve these using the jump strategy:
a 125 -42 =
b 168 — 36 =
¢ 335 -54 =
d 245 - 45 =

A
Y




Telling time — digital

Digital time is always read as minutes past the hour.

This digital time could be read as 24 minutes past 8
or eight twenty four.

Draw the times on the clock faces and show the digital time below:

a half pastnine : b twentypastone : ¢ tenpastfour : d quarter pastsix

six oh nine

The time is
eight fifty.
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Speed loops to and from f Date / /

Remember —
don't make your speed
loops too big, or they wil
slow you downi
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Name

Date

Flex Your Muscles!

Check out the Flex video on the Awesome Sauce channel,

Try at least one exercise in each muscle group. If possible, put your hand

on the muscle you are using to feel it work. After you finish the exercises,

fill in the blanks below.

* Do 5 sit-ups.
* Move from sitting to standing 5 times.

» Pick up something from the floor 5 times.

L

Quadriceps

» Squat to pick up something 5 times.
+ Jump up and down 5 times.

* Climb at least 5 stairs.

i% * Do 5 push-ups.
g %
gfg%%g% » Raise your hand 5 times.
& A
4 Wl e » Do a plank and hold it for 5 seconds.
Deltoids
- * Bend your elbow 5 times,
ggggg%’% * Do biceps curls 5 times: Hold your arms straight out in front
J of you. Keeping your arms tight, lift your hands to your
| A shoulders and then back down in front of you.
w a b4

» Rotate your arm so your palm faces up 5 times.

\ Hand PM'uscIes

* Make a tight fist for 5 seconds and then release it and spread out your fingers,
= Stretch out your fingers as far as they will go for 5 seconds and then relax them.

* Press the tip of your thumb to each fingertip and hold it for
5 seconds.

My favorite exercise was

because




QUICK READ INSTRUCTIONS

1.

2.

Get a stopwatch and be prepared to time how long it takes you to read the QUICK READ article
Read the QUICK READ article

Record the time

Go back through the article and circle the words you did not know or understand

Ask an adult to help you with these words

Re-read the article and time yourself. Compare the times between the 2 reads

Answer the QUICK QUESTIONS
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Subtraction mental strategies — split strategy

~

~
When subtracting large numbers in our heads it can be easier to split
the number to be subtracted into parts and work with each part separately.
100
255-132 30| - 255~100=155 — 155-30=125 — 125-2=123
2 255-132 = 123
Y,

a 482

b 675

Practise splitting numbers into hundreds, tens and ones:

c 732 d 834

a | 768

- 200
e

a 456 — 212

456

So, 456

200

10

212

H

Complete these subtraction trails:

—20

—300 - 10 O
e e

Use the split strategy with these problems:

b 378 — 165
378 — 100 =
- 60 =
— 5 =
So, 378 ~— 165 =




Measuring time — time facts

7 ~
It is important to learn these time facts:
(60 seconds = 1 minute. ) (52 weeks = Lyear
(60 minutes = 1hour 12 months

( 24 hours = 1day
(- 7days =
[ 14days -

- 1 fortnight

How many days are there in:

a 2weeks= days b 1leapyear= days ¢ 48 hours = days

Calculate the number of hours in:

t
p
@]
o
=
W

a 120 minutes = hours b 2days

¢ 180 minutes = hours

Write these minutes as hours and minutes:

a 120 minutes= hours minutes b 150 minutes = hours minutes

¢ 200 minutes= hours minutes d 85 minutes = hours minutes

Use what you know about time relationships to complete this cross number puzzle:

Across Down

1 Daysinaleapyear
5 Weeksin ayear

7 Hoursin 10 days
8 Hoursin%day

10 Minutes in % hour

12 Hoursin 2 days
13 Minutes in 1 hour

2 Secondsin 1 minute

3 Minutesin 1 hour
and 40 minutes

4 Minutesin %1- hour
6 Daysin 3 weeks

9 Days in a fortnight

11 Minutes in -% hour
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Visualise

Read the text carefully. What do you imagine this scene might look like?

0 Draw an image to match the text.

I lay amongst the tall green grass and blue flowers of the
meadow, looking up to a pale blue sky dotted with clouds and a
bright colourful rainbow.

visit twinkl.com.au
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Subtraction mental strategies — compensation strategy

4 ™
Sometimes we round one number in the problem to make it easier
to do in our heads. Then we adjust our answer to compensate:

125 — 49 =176 1 took off
JEsTay lextraso
125 — 50+ 1) I rounded up by 1, which | have to
Sene? add 1 back.
" means | subtracted 1 extra
751+ 1) = 76 so we need to add 1 back.
THINK

Round these numbers to the closest ten. Then show how you rounded by
subtracting or adding the difference. The first one has been done for you.

a 78= 80— 2 b 59 = c 62 =
d 23= e 87 = f 99 =
g 103 = h 21 = i 88 =

Solve these subtraction problems using compensation. Show your working.

a 136 - 29 = b 145 — 38 =
136 — 30§ +1 ] 145 - 404 +2 ]

¢ 156 — 39 = d 184 — 48 =
156 — oo 184 — 1)

Continued on page 25.




Palterns and functions — completing and describing patterns

4 4
So far we have looked at skip counting patterns that begin at zero.

Here is a skip counting pattern of 5s that begins at 7.

This pattern startsat 7. | 7 12 17 22 27

The ruleis: add 5. +5 +5 +5 +5

a[ Add 10 ) 11

b[ Add S J 55

C [ Subtract 4 j 40

Practise counting backwards by 10 and 100.

Backwards by 10: : Backwards by 100:

Ju) ) ) ) ) ) ) )
Ju) ) ) ) )ee) ) ) ) )
J=) N N ) e ) ) ) )

Look carefully at these number pattern grids. There are four rules: across, down,
and along each diagonal.

a | 15 b | 32 41

26 | 27 41 § 44

38 47 53

47 50 56
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Written methods — 3 digit subtraction with regrouping

Subtract these 3 digit numbers using the written method. Start by writing your
estimate. Estimate to the nearest 10.

H!T: U CHIT:U H:T: U
a i 6:5:i2 b 716 i1 ¢ 5:i9:2

You can usea

piece of scrap
paper to estimate
your answer to

the nearest 10.

HiT U HiTiuU
d 5812 e 65 i1
-i3i4i6 - 4.3 3
CHECK
g E I
HiTiuU ‘THiT!iU HiTiuU
f 9 i6 2 g 8:8i2 h 743




Patterns and functions — predicting repeating patterns

7

Number of sweet bags

1

2

3

4

5

10

Number of sweets

8

16

24

32

40

80

we can just apply the rule.

When we use number patterns in tables, it can help us to predict what comes
next. Look at the table below and how we can use it to predict the total number
of sweets needed for any number of children at a party.

This table shows us that 1 sweet bag contains 8 sweets and 2 bags contain 16
sweets. We can see that the rule for the pattern is to multiply the top row by 8
to get the botiom row each time.

1x8

To find out how many sweets are in 10 bags, we don’t need to extend the table,

10 x 8 = 80. So, 10 bags contain 80 sweets. This helps us plan how many
sweets are needed for a party.

Complete the table for each problem:

a Tom receives 55 a week pocket money as long as he does all his chores. How
much pocket money does Tom get after 10 weeks?

Weeks

1

2

3

10

Pocket money

5

10

b A flower has 7 petals. How many petals are there in a bunch of 10 flowers?

Flowers 1 2 3 4 5 10
Number of petals 7 14

¢ Aflag has 6 stars. How many stars are there on 10 flags?
Flags 1 2 3 4 5 10
Number of stars 6 12

d At a pizza party, each person eats 3 pieces of pizza. How many pieces of pizza do

10 people eat?

Guests

10

Pizza pieces

12




